EARAROBEEIERT — 2 N— IBISH —F

20145108230 (K) 16@EZHE3H

el =505 C1 HoR—ig B R
[AE&4€] 1 &:195,000H ~ 2#%&:36,00MH ~ 3&:1400MH  4#%:10,000H / 5&%:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— . FLILE— 129, 22— . — FHEME (BHE)
1 3 E/FIERS i 54.0 1(2_9)4 rez2 1395 ° f_‘; ®) ?/7‘—’
LTAYVHCARZ B:THEHLE— F& #hE
— e 4 | NAREH 1:29.7 7-6-7- 2| = 4 M2 TRE (BHE)
2|5|5|TTVTN % 4A51.0 Q 19/2) A ’ (+365) #) ~27v7
L:A-—xI>JU> B:h)=F71— TJr7=—kNT7—L
o S > 8 | At 1:29.9 10-10-9-9 | 38.9 | — 2 498 | HLEE (BEB)
3lgli1| TEYITAT > > 56.0 1 1/2) e | BHLTR
:oa)—-ZANM0—- B:I-NFTz 44— [=::Eve ]
N N LI B 1 : 44— — Bria—% (BEE)
40111 JTEAXLT o 56.0 1('33/(21.)1 it 1900 ¢ ::326) FEEE
L:Fa>N—p>b)— B:f—%v bEO- Wt RS2 &y K
FLEFRERR :30. -1-1- . — StEz (BEHE)
5 2 g—TJp Yy — 4 4 g 1(/3(;; 1-1-1-1 | 40.4 1 <5+032) s
R:TZRA78— B4 ILIT—)b Lt Rk
6 NES I AVE H o4 gég%?@ 1:(310).3 57-6-5 |40.0| — | 5 (4+811) i%gé(%ag)
LZLRA Y E—Y BT NEXT 1T — elike
. - BRR— : -8-8- — HWEORE (BHE)
7 IEE S F P H 5 B 1(.33/%4 9-8-8-7 | 39.7 7 ;1_648) ﬁsgum
v TVRry b BIIAXT 4~ ®&IN77— L
N o 4t 4 | DEEFIGE 1:30. 1M-11-11-11{ 39.5 | — 1 | 445 |KBET (BHE)
8|8|12| VS A MI=T 54.0 (7€) Lo | B Tr-ZbEVa
Vv TRy b B TAIX MR- J =Y Ty —L
< # 7 | RESBH 1:30.9 8-9-10-10 | 40.1| — 10 | 474 |H#HLE (BEHE)
97|10/ VY- 4530 @ o |EELTA
L:FY—-—b¥2d B:US7I I1—7 Y]
o0 INUETT :31. —5-5- . — HWEOE (BHE)
10/5/6|TT>>F+¥ 7T R -l 1(33/14>1 e a0 ’ ;013) ]
R:d—IWRFPY2—Ib B:T7LHL v ILT 1 1EHEBS
= — it 4 | RIDAEB 1:31.2 3-3-3-3 |41.3| — 6 430 | ABET (BHE)
11171/ 9 Zyh—Y 54.0 (3/4) (o) | AREES
RixAavk-5— B:T7yvTRT— B3RS
. . W4 | FEME - B | - | = - |emEz @sR
x% 8 H = 54.0 (BLH) (=) ;)_iHiEEEB
R—iA70— B:EHH>T— ng Rr—
® I —F—EBIERL
13=zr= 2,3,9,1,4,6,5,10,7,11,12
Aol=5r= 2,3,9,1,6,5,4,7,10,11,12
G§a=7r= 2,3,9,1,6,4,5,7,11,10,12
43—+ — 2,3,9,1,4,6,7,5,11,10,12
[ RN
B OB 3 440M 714K 3-5 1,520H e & 3-5 3,370M &R 3-5-11 8,630
8 B 3 160 3-11 390M B E Hg0 9,810M JEH &=/ 65,830
5 430M 5-11 1,290M B H 3-5 13,560
1 1609

ABICOVWTRDTEEERROODE. TR LIV,




